[N of simulated tracks vs dxy(PV) ]

N of associated tracks (simToReco) vs dxy(PV) ]

L

[} I’J
<@ o
S =
510 3
g 2102
S 3 2
c 10 S
= 3
@
10?
10
il
o 0+
g 3
o 14
H
O':L5—20—15—10 -5 0 5 10 15 20 25 0'—25 20 15 10 5 0 5 10 15 20 2
TP dxy(PV) (cm) TP dxy(PV) (cm)
—=— 2/CMSSW_12_3_X_2022-02-25-2300/src/DQM_V0001_R000000001__Global__mkFitOLD__RECO
[N of sim] —— CMSSW_12_3_X_2022-02-25-2300/sr¢/DQM_V0001_R000000001_Global__mkFitNEW__RECO
'3 - %]
< e a
S =
8§ 10° 3
2 E
= %]
[5] c
c 8
F 102 e
10 1 :
1
ST | 2 :
T | I I | T \
¢ HUARTY | : _HHHHLHHHH
il | R
=1-0.8-0.6-0.4-0.2 0 0.2 0.4 0.6 0.8 .
TP dxy(PV) (cm) TP dxy(PV) (cm)
[N of simulated tracks vs dz(PV) ] [ Nof associated tracks (simToReco) vs dz(PV) ]
[} F [
o f : a
s : [
510 St A 3
2 H E
] : 2
@ 10°fF- - [ EERER EREREEE R teeees S
= 3
x
he]
©
04
0¥ 20 -i0 0 10 20 30 0¥ 20 -i0 0 10 20 30
TP dz(PV) (cm) TP dz(PV) (cm)
[N of simulated tracks vs dz(PV) ] [N of associated tracks (simToReco) vs dz(PV) ]
[} 2
2 S
L =
F
2 E
x [%]
Q c
IS S
= 3
i3

Ratio

0.5 1
TP dz(PV) (cm)




	Contents
	Page 1


